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QUESTION 1

Which of the following is a predefined protocol filter? 

A. IPX_8022 

B. UDP 

C. IPX_8023 

D. None of these. 

Correct Answer: A 

 

QUESTION 2

What information can you find using the show edp command? 

A. ExtremeWare code version used by remote switch. 

B. The ports that are disabled on the remote switch. 

C. The master port of any load share groups. 

D. The speed and duplex settings of the ports connecting the two switches. 

Correct Answer: A 

 

QUESTION 3

Exhibit: You need to setup an 8-port load share group between two switches. Summit #1 will use ports 1-8 and Summit
#2 will also use ports 1-8. You will need to connect the ports in the following order: Summit #1, port 1 to Summit #2 port
8, Summit #1, port 2 to Summit #2, port 7, and so forth. Which commands will provide you with the desired result? 
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A. Summit #1: enable sharing 1 grouping 1-8, Summit #2: enable sharing 1 grouping 1-8 

B. Summit #1: enable sharing 1 grouping 1-8, Summit #2: enable sharing 8 grouping 1-8 

C. Summit #1: config sharing 1 grouping 1-8, Summit #2: config sharing 1 grouping 1-8 

D. Summit #1: config sharing 1 grouping 1-8, Summit #2: config sharing 8 grouping 1-8 

Correct Answer: A 

 

QUESTION 4

Which command would you use to configure ESRP IP route tracking for the 10.0.0.0/24 network? 

A. enable esrp add track-iproute 10.0.0.0/24 

B. config esrp add track-iproute 10.0.0.0/24 

C. enable vlan add track-iproute 10.0.0.0/24 

D. config vlan add track-iproute 10.0.0.0/24 

Correct Answer: D 
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QUESTION 5

The default parameters for QP8 are: 

A. Minimum bandwidth 0%, maximum bandwidth 100%, and low priority. 

B. Minimum bandwidth 50%, maximum bandwidth 50%, and low priority. 

C. Minimum bandwidth 100%, maximum bandwidth 0%, and low priority. 

D. None of these. 

Correct Answer: A 

 

QUESTION 6

In unicast IP routing, all forwarding decisions are based on the ______ of each packet. 

A. destination MAC address 

B. source IP address 

C. source MAC address 

D. destination IP address 

Correct Answer: D 

 

QUESTION 7

What is the default IP multicast address used for RIP route update advertisements? 

A. 224.0.0.2 

B. 224.0.0.5 

C. 224.0.0.6 

D. 224.0.0.9 

Correct Answer: D 

 

QUESTION 8

An Extreme Networks ABR can support up to __________ OSPF areas. 

Correct Answer: 8  

 

QUESTION 9
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Only one Type-3 LSA appears in the router\\'s LSDB though there are multiple networks in the neighboring OSPF area .
Which of the following commands created this result? 

A. config ospf area add range advertise type-3 

B. config ospf area add range advertise type-4 

C. config ospf area add range advertise type-5 

D. config ospf area add range advertise type-7 

Correct Answer: A 

 

QUESTION 10

Which of these are valid load sharing algorithms? 

A. MAC-based 

B. Ratio-based 

C. Round robin-based 

D. All of these. 

Correct Answer: C 

 

QUESTION 11

Which area type is used to limit external LSA flooding while still supporting an ASBR? 

A. Stub area 

B. Totally stubby area 

C. Not-so-stubby area 

D. None of these 

Correct Answer: C 

 

QUESTION 12

A QoS profile determines into which hardware queue a frame is assigned. 

A. True 

B. False 

Correct Answer: A 
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QUESTION 13

Which of the following can you use to create a router interface? 

A. Create a VLAN, enable loopback mode, and assign an IP address and subnet mask. 

B. Create a VLAN and assign it an IP address and subnet mask. 

C. Create a VLAN and assign it an IPX net ID. 

D. None of these. 

Correct Answer: A 

 

QUESTION 14

What is the meaning of the command config iproute add 192.168.0.0/16 193.169.0.1 2? 

A. Configures a default route to the 192.168.0.0/16 network using 193.169.0.1 as thegateway and 2 as the metric. 

B. Configures a static route to the 193.169.0.1 network using 192.168.0.0/16 as thegateway and 2 as the metric. 

C. Configures a static route to the 192.168.0.0/16 network using 193.169.0.1 as thegateway and 2 as the metric. 

D. Configures a default route to the 193.169.0.1 network using 192.168.0.0/16 as thegateway and 2 as the metric. 

Correct Answer: C 

 

QUESTION 15

Which of these are valid load sharing algorithms? 

A. Port-based 

B. MAC-based 

C. Ratio-based 

D. All of these. 

Correct Answer: A 
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